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TR ZEHET 103 150 167 317 = RHET 340 416 446 862
KIRHET 1,888 2,318 2,400 4,718 |#KHET 403 479 442 921
B GHET 216 176 144 320 [hEHT 179 234 224 458
=AHT 4,015 4,589 4,774 9,363 | FLLLIET 276 337 364 701
=xitta 1,230 1,492 1,505 2,997 |1 SHET 345 413 441 854
F [ ET 410 518 514 1,032 |ta/RHET 337 373 394 767
£ [FET 1,532 2,088 2,073 4,161 ||&HET 335 369 414 783
FHHET 254 252 345 597 |ZEHET 419 428 447 875
JKATET 1,299 1,710 1,727 3,437 |talRHET 177 237 258 495
& EET 697 979 988 1,967 |FT & HT 2,395 2,821 2,584 5,405
IR AHT 77 113 132 245 (75T 103 150 166 316
4 / SRET 568 807 817 1,624 {5 HRHET 901 1,032 1,055 2,087
FF+EET 422 553 550 1,103 |E SHT 855 967 1,009 1,976
FHRET 178 257 236 493 |;EHT 0 0 0 0
S ERET 202 234 241 475 |— & HT 164 229 229 458
g A BT 58 77 69 146 & FHT 919 1,193 1,209 2,402
FrHHET 278 337 331 668 |[fiz[RHET 4,595 5,948 6,041 11,989
I\NBEHT 375 426 460 886 |75 mHMET 2,089 2,686 2,714 5,400
FEAMET 373 400 441 841

ZSHT 403 476 523 999

£ ZRHET 131 154 158 312

rh S R HT 482 576 587 1,163

JoHT 313 363 349 712

FHT 245 271 280 551

e 605 665 702 1,367 & & 31,186 38,293 38,950 77,243




